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	[image: image1.png]T'o make “14 carat” gold, copper and pure gold are mixed in the ratio 5:7.
A jeweller has 160 grams of copper and 245 grams of pure gold.

What is the maximum weight of “14 carat” gold that the jeweller can
make?




	
	3

	Ans
	384g
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	[image: image2.png]10. School theatre visits are arranged for parents, teachers and pupils.

The ratio of parents to teachers to pupils mustbe 1 :3: 15.

(@) 45 pupils want to go to the theatre.

How many teachers must accompany them?

(b) The theatre gives the school 100 tickets for a play.

What is the maximum number of pupils who can go to the play?
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	Ans
	(a)  9       (b)  75
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	[image: image3.png]A coffee shop blends its own coffee and sells it in one-kilogram tins.

One blend consists of two kinds of coffee, Brazilian and Colombian, in the
ratio 2 : 3.

The shop has 20 kilograms of Brazilian and 25 kilograms of Colombian in
stock.

What is the maximum number of one-kilogram tins of this blend which
can be made?




	
	3

	Ans
	41 one kg tins








